5—2 BIERNFHEEABERVHE

B (7 ha, $E: FE)

&t 5t N
P s oE om & % 3 e E7 % 7Y pavY H5XY FEYY U=y Zom el
mig = mig = mig H= mig H= mig %= mig %= mig %= mig %= mig %= mig H= mig H=
E ok 22 & OE 67 183 67 183 10 20 57 162 1 2 - - - - - - - - - -
(22) (22) (22)
T om 28 & E 54 87 54 87 11 31 43 56 - - - - - - - - - - - -
T m 24 & OE 55 124 55 124 11 22 44 103 - - - - - - - - - - - -
(22) (22) (22)
E Ok 25 &FEOE 133 310 129 301 58 157 Al 144 - - - - - - - - - - 4 9
(5) (5) (5)
SE R 26 £ E 158 287 141 282 54 94 87 188 - - - - - - - - - - 17 5
A= - - - - - - - - - - - - - - - - - - - -
BiE 35 92 35 92 20 51 15 41 - - - - - - - - - - - -
mE+ 68 133 68 133 0 1 67 132 - - - - - - - - - - - -
(5) (5) (5)
b4 5 5 5 5 5 5 - - - - - - - - - - - - - -
S ER - - - - - - - - - - - - - - - - - - - -
oy 28 37 28 37 28 37 - - - - - - - - - - - - - -
(D 22 20 5 15 - - 5 15 - - - - - - - - - - 17 5
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